1 '’ Which of the following options i arranged in deséending order of their storage size? |’ ' "’ : ’
| TR T 3 ATHT TR By 3 & e foraea o) (wed) s o 82
- (A)  Bit, MB, Nibble, KB (B) Bit,GR.KR.MB
_12f  MB, KB, Bytc, Nibble (D)  Nihl “Ahs el

(E)  Question not attempted / AFaRE war

2 PARAM is a serics of asscmbled in India by C-DA(
(A) Micro Computer (B) M ¢ omputer ‘
(C)  Mini Computer (D) Sup ¢ omputer :
(E) ' Question not attempted :
TH_ R saen @, R Rl g v d s R mm
(A)  HIEH FRR (B) BN e
©) BritEaz PY  gRFIX

- (B) raiawn ' ‘

3 Which generation of computers uses Vacuum tubes for Circuitry and Magnetic drum of Memory?
(A) Third generation (B) Fourth generation
(C)  First generation (D) Second genération
(E)  Question not attempted
FEI A i T wfhedt o A g A & R e ogga o s e s 22

e @it : (B)  <reft oficdt

(C) el didt ' : B~ G
(E) IuiawH

4 AR s w1 aad Iuge e s i
A) o= (B) ¥m
@ e (D) fre
() igaiaws

s femamd aw, e, T, @, o R a, el e R R s i
(A) e fas (B) I@wfug
(C) sreafam (D) oifem
(E) ¥gaia e | .

6 fasrwyT feum g
wHYA - | ;T AE] A avi 2l
wYT- 11 : *§ T ITET] T A1 Bl
TR AT F ATen | g fawed § @ waifas sugw s
(A) FHF 1\, g e 1 e R (B) A | IR, g e we
(C) @A 1 ¥ 11 <l a2 (D) e 1 30T 11 AT st #)
(E) @ufiaug

7 ‘Deputation’ 167 &1 fédh amrardas wreg gom-
(a) fare nvea frgfim (B)  fae g
() whaffE (D) fayw
(E) reiawd
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y T';lke the given two, statements to be true even if they seem to be at variance from commonly known s
which conclusion would follow on the basis of given statements?

Statements I: No Apple is Banana.

then decide

Bomey
Somé Bah&r‘*n\s arc grapes. :-‘-/3
Conclusion II : 1. No App]‘é!nrc grapes. fﬁ
1. All Apples arc grapes is a possibility. 53
In light of the above statemé 8, choose the most appropriate answer from the options gwen below:
(A)  Both conclusion I and\ I follow. (B)  Neither I nor II follows. - ,
(C)  Only conclusion I follows, (D)  Only conclusion II fOHOWS; ;g'":
(E)  Question not attemptec o

SRt R Tw S o )y wiy ®, o € ¥ g w qwt @ R e a6 e, Hﬁ%mm%%ﬂ?m

R st srafes sr g STETOT T 22
AT : aﬁéiﬁﬁa #—n%‘a O @ ’:
frewd 1n: Lo ham %1 ™
1L ot q, mﬁﬁm%n ,;;
EWW%M@EI} ﬁﬁﬁ%ﬁﬁ&ﬂ'ﬂﬁbﬁmma—-‘r
ST ST R 1o In st e 8 AB) ?a‘rlaﬂwanmmj%l
© o e 1 LT & (D) %ﬁﬁﬁ&ﬁénmmﬁl
(E) mﬂﬁasﬁr
:I;OO:; told Munna, ‘Yesterfzzy, I defeated the only brother of the daughter of my grandmfo?l&er”. Whom did Anoop
efea Xy
(A) Son Z;_z (B) Cousin ;*:3
(C) Brother “‘ (D)  Father A { ;ﬂ: }
(E)  Question not attempg:d N
3T g1 9 e, ‘wﬁwwﬁ@%gﬁq@ﬁmwlm%m v~
(A) T i ®) wRwE Wn—
© wEF 4By frarsh =y i*J, i
(E) mi@gy N - B =
" 1‘&\ —
O 0
If CAT =48, then MOUSE%%qual to: A8
= 48 B, 9 MOUSE & sRIaIT 47 87 8
e CAT =48 71, & CF ; v
(A) 148 1 (B) 138 \L Ui ~Y42s
(©) 142 e APy 146 Ay 20 A+ 112
(E)  Question not attemp_i_"gwd‘:/ S 9% e J ) : £ @ |
. g m¢MWS
» . r y fb t o l[, . .
ke wmzjs e Cdme? £.Eroup of bils simultancously, that is, in para|je|, and has an associated contro) scheme
is known as : T 1™
(A) Bus b (B)  Registers ¥ 131 -2
i) s~ =
(©) wires (D) data cables it} R) '\R“
(E)  Question not Atttm[;_iCdI S et - N G
ART AT T TE ST U AT THEH % UF HIHE 4 9 St 8, ar WU, 3y AN S5
Ny v Wﬁaﬁﬂﬁm;ﬁm%mﬂm\_ﬂ%——ﬁ
: i) B) L3 2}
(A) =¥ v () e Ty 31 X
(C) dni (D) L1 ey ““ 2 2
(E) Fgaiaad "] < _I_C e
Al15] sk 3
[P.T.0,

ABeovcPuyr e o,




sTT— Ashu gle Hitk

i llite is':
12 The name of tlhettﬁrst Indian Satellite is iB) - Eeilpaba (’-\K
(A)  Aryabha T) T ‘q—@
(C) Bhaskar-1 { e
(E)  Question not attempted /
TR YRR IE 1 A R
ST (B) ey
o (D) F@EI
©) =Rt
(E)  gaRa wa
13 Which part of the telephone device accepts voice and sends that information in the form of f:lectromagnetxc moves
(A) Dialer (B) Mouth Piece
(C)  Receiver fr “ {D) Cable
(E)  Question not attempted ' R S . .
T I 7 7 A R SIS Y TefiehT e & S 3 T P Ferege g et S #F o 2
(A)  THEeR By 9y .
© Tl | (D) FeEw
(E) rgafawy
14 Which one of the folloiving is not the mode of Social media?
(A)  Broadband (B) Blogging
(C) - Facebook D)  Twitter
(E)  Question not attempted
ﬁw%%aﬁﬁﬂ:mmaﬁ%mmmq IS E R
LAY Sisds (B) i
© FEgs ©) R
“(E) SaRaws ,

15 Who of the foilowing space travellers born in India died j

. N space shuttle of Columbia during jtg returning?
(A) Ritu Karidhal (B) Sirisha Bandla

hawla
(C) KalpanaC

(D)  Sunita Williamg
(E)  Question rot attempted

(B) ﬁﬁt&nm S
(A) FgHfe o
EZSCIEIESH
r4 st v

itute is situated at which of the follow;
j icultural Research Institu ]
16 RajastharT Agri e e ol
(A) Jaiipl:lr (D) Udﬂipur
r
(C) Jodhpu )
ion not attempte . '
(E) Question _ : . " N

8 cities 9

(B) Wra'z:qraL
AT ERAA (D) EE
S
(©) §
(E) a@ﬁﬂﬂ'gﬂ .

a15]

[P.T.o,
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: ?
. . vis fRa asthan’
Ramganj Mandi, also known as coriander city, is situated near which of the following cities O J
(A)

Sriganganagar (B) Kota
(C)  Jodhpur (D)  Udaipur
(E)  Question not attempted
mﬁ@ﬁ,ﬁ%uﬁmmgﬁm%mm%ﬁqﬁﬁﬁﬁﬁm%%ﬂm*mmm
(&) T By W
(C) U (D) 3
(E) gafaws
18 Ffaias el 8 ys forfaa v 2-
a.  dysw b OTHH
C. EL ok Hfira
}. o
e R foreredtt 3 @ wraifires suges et w5 AR
&) Fadade B)
(C), Fa=a3ib (D)
(E) ° mgiiﬂﬁsm“ ¥ 0
19 O G el e R 3
a. oqEdr b.
c. e d.
€. witrwan .
419 few e fshedt # | waifaes sugw sww =w fifvw:
(A) Fade, dIM b (B), - ¥adc,d 3R a
© aﬁac,d?ﬂj’:e _ D) Fad a, b 3 e
(E) Afai@wy
20

e ¥ form arT=0a 3 TgEm f&d 3 it e 22
(A) TI=< 234

(B) T3 283
(C) =R i‘;” AD)  ITdE 243
(E) FgaRa -

21 freiferfaa § @ o e fadeti 82

(A) #EH ®) e
© fasd D)  qEm
() afawd
22 Where is the famous Sikh Shrine ‘Hemkund Sahib’ located?
(A) Sikkim Himalayas B)  Zanskar 11
(C) Garhwal Himalayas D) Kuma:‘:{l‘malayas .
(E)  Question not attempted Imalayag
(a) fafe fenrea &)
P ( ©) s
(B) wAufw@yq %Wm
A15] S

[ P‘T-O,



23 Sewan, Dhaman and Karad are

|

(A)  Types of grasses (B) Types of Rajasthani pai;iing forms
(C)  Types of folk dances ™ (D) Desert soils ' ?
(E)  Question not attemptedfﬁj} (ff
[, T 3 S Ty ~ )
L ¥y :; (B) nmiﬁ%m@%m%qiﬁm
(C) N o1 ¥ THR i'm* (D) HEEE AT —
(E) Afaf@ws S
16 17}
) it | ¥4
24 Which country’s armed forces were awarded the coveted ‘Golden Owl’ award for their outstanding performance in
Dec 20237 (Choose the most appropriate option from below) P
- i 5
naia . . 8 i
; % x (D) China ¥
. (E). . Question not attempted ;f’;;i f::;? -
: ,%H%w;%v%aﬁaﬁﬁﬁm 2023 H % ITFE W 3 I “TreeT anmver T & gafyer i 3 F= g d g
I e ) by v v
(A) 4'?‘?‘*}'. . /Y (B) R g ,M‘Cr\
b 5= po gl
TafE W /
) E’f‘:a 2.
. ¥ tom i
25 Who was. appointed ar(he ﬁrst:iwbman Chief Justice of Uttarakhand High Court? L
(A)  Hima Kohli g:} (B) Indira Banarjee ¥y
(C) Ruma Pal o (D). Ritu Bahri (53}
(E)  Question not attempted. ’ 0N
. 3 Ealls
By femwwe l (B) 3R st 1y
© wHIIA D) Fge=h v
(E)  oTguia s
' >
26  Which one among the followifi%;is a “Fossil Park™? L\
, (A) Sariska 3f5 (B)  Ranthambhore 3
finr r (C) ‘ -'AkaIVWO(?d . , l (D) KCOIadeO Ghana . @
: t attémpted ) N
(E)  Question not attempted, i ,
Freferfas i & iy, i g 22 ™
, Ll (B) il L
(A) paite=at E 3
.,( e s/ (D)  FaART ™
; (,E)‘ t !‘ / ga ' :‘/6”" i‘\
p ‘?r i i P i Al) related proj initi N
) p notthe Artificial Intelligence ( Projects initiateq by :
27 Which of the following ar¢ %; (B) Audio Analytics g\?e Rajasthan Government?
(A) UID i ; :\i (D)  Revenue Intelligence &C;\imlyt'
.BOT Y ey 1CS
(© Raj ted; - v
tion not attempted; =% ﬁﬁmmmm A Heifs
(B) Ques HhT B E - TR W wHefirg, -
- Waawmmﬂ;{ (B)  3TfeE ey ‘.%W“WT@'%*’
y g I ' (D) TS G 39 frsiyepoy
/©) T 589
E) AR 6 —
[ P.T.O.
Al15] N
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28  Who amongst the following Indians has been recently selected for the ‘Goldman Environmental Prize 20247 @
(A)  Tulsi Gowda ' | (B) Rajendra Singh " ig6® ‘
(©) Ramesh Agrawal (D)  Alok Shukla : : ‘ - @
(E)  Question not attempted 7
T & 7 = 9 e vt o6 = cafotn garterr grei 2024 B I R?
W g ® R @
(C) T 3EA (D) T AT
(B) -Iaiass .
29 Which of the following is the starting point of the Ram Setu in India? -~
(A)  Arichal Munai ) (B)  Shivaganga @
(C) Thanjavur Fes ' D) Madurai .
(E)  Question not attempteﬁ ()
e i Frefafaa 3 = w wedg i fg a2

31

32

33

Al5]

C

(A) REa e _pr— Rt Q.‘\to 3/
' \

(C) TSR “(D). W B> 25 .

(B aqgﬁqﬁmm ®

‘A’ borrows a sum of X 2000 from his friend ‘B’ on 31 December 2011 on the condition that he will return the same
after one year with simple interest at 8% per annum. However ‘A’ gets into a position of returning the money on 1
July 2012. How much interest amount he has to pay to ‘B’?

A s i B @ 31 Rmmw 2011 H1% 2000 TR A  Forerht 7 & fo o e o AT 8% TRiep AT S & 3 AT 'S5
Ww%mﬁaanﬁﬁ1@%2012ﬁww%m%|m3&3ﬁmﬂmémq%m ' 2 6C°

(a) <100 @ 120
© Ts0 : ® 9 a8
(E)  Question not attempted / CENIGRE ‘ :

Rakesh spends 80% of his income. If his income is increased by 14% and saving decreases by 15%, then what will

be percentage increase in his expenditure? .
TreT ST 37T T 80% W T B I It I 14% | 9G ST 2 S T=d 15% H 5

yitrera gfg gri?
(A) 22.25% B) 25%
(C) 20% @dr 21.25%

(E) Question not attempfed / 34'-3;aﬁ‘d 9q

If ‘m’ is proportional to «n” and m = 5 when n =4, then what is the value of m when n = 20?

a‘ﬁ:‘m'ﬁ‘n’mﬁqﬁﬂ?ﬁ@m=5mﬁ?n=4ﬁ,ﬁﬁn=20€mammqﬁwm _ ]
Ay 25 (B) 20 %a \R\Vﬂ

(C) 28 (D) 225

(E) Question not attem

pted / 3@?1‘&3 q4q

After Independence three states in Rajputana acceded to the Indian Union thy ough the

yration (B)  Accessi
(A) Instrument of InteEras ssion Instrummeny
(C) Instrument of Obligation (D) Instrument of AcceSSi:‘neagu a
i ted
(E)  Question not attemp o i
émaﬁmﬂm%qﬂmmgmmﬁ??ﬁﬂ'“ﬂmwﬁqﬁﬁaq 5
tr o1 T2 (B S ——— ﬁ'TqTTmn
(n) TG AT ) TR
Stz ST SATfeet 4T R ofty
(&) a3 Al L Py w@__{

(E) FAfE I ;
N

y 2| P.T.O,



34  Which of the following is an institutional factor of agriculture which 1nﬂuences the p;:fm and productivity of
agriculture? O ‘0
(A)  Chemical Fertilisers ) (B)  Crop Insurance
(C)  Size of the holding of field{T\ (D) Topography A8
(E)  Question not attempted  (\j E?
Freferfas 3 & 5 s e semw s, T oY Iearaahar I T Y e et 27 (N
&7 R e Ty " (B) wHEHmE 7=

(©) MrFHaArFaAER

!

: : (D) i L)
(B)  igafie W
g P

35 ‘Narma’ is associated with which {@P in Rajasthan? (C ‘—\—M

(A) Tea i‘\;‘; (B) Coffee W
©)- Jute o) (D) Cotton v i)
s (E)

Question not attempted -~

L)
T uwm*ﬁ%amawaf‘gg%ﬂ , 0N
(A) =, i) (B) =HhI 4
© i . By wuw L0
) eRawa ]
36 F gi > !
or the given sentence, choose the most appropriate answer from the options below: P~
The language and style of a forma‘k itter is- Yo
(A)  very friendly R (B)  polite and bri‘ef My
(©)  lengthy o (D) chatty N
(E)  Question not attempted E &t

37 For the word given in Hindi, choosg;the most appropriate word in English from the optiox;?s;elow:
f 2 ’ ¥ W

A) unacqeptable P (B) untenable o |
(C) tenable (e D) acceptable
: (E)  Question not attempted ,..A} E”"
3l8 ;From Whlclll generatlon of computerithe use of Integrated Circuits (IC) started? Lg
“ (A) Third Generation "“§ ' (B)  Fourth Generation ‘\
* t 3 3
(C) First Generation Lﬂ : (D) Second Generation vl
(E)  Question not attempted 7 '
‘ mﬁﬁ#m%awﬁé@ﬁz(m ) T S Y& gat 27 !
el it (B) =eft iy
“ 5 gad i
(C) el did WO (D) t~
(E) 3rgaita = f‘ﬂ | ‘\KJ
Who describes Prime Minister asanmus inter pares” (First among equals) and “key ston,e af the Cabinet arch™?
¥ A) H.J Laski i (B)  Munro N
( i (D)  Lord Morely 4=l
(C) RaunsaryMulr L) S
t attempte 4
%Hg;e::%)go;amm bt (st o S e ) 3R R 3 T TR i R
a7
A) T (D) iré viveey
e TAaL TR/
© o

®) T [ P.T.O.
a15] S



Who was the first Lokayukta of 'Rajasth ?
E an?

40
(A) Justice L.D. Dua
(C)  Justice Pratap Krishna Lohra (B) Justice J.L. Gupta
(E)  Question Rt attempted (D) Justice S.S. Kothari,
TSR 3 W ST T 47 ‘ .
S S1. 3 Lo
©) e e Lt e ®) SReEST TN
41 at is the t : ,
A 5Y enux‘;gpf the Chairperson and Members of the Rajasthan Hugian Rights Commission?
ears or upto 65 years of age whichever is earlier ot
(B) 3 Years qrupto 65 years of age whichever is earlier
(C) 5 Years drzupto 70 years of age whichever is earlier i~
D)y 3 Years Oﬁﬁ‘pto 70 years of age whichever is earlier \ e
(E) Question{@ot attempted 7}
TSR WIS TS SR LN L L O
5at§m65faﬂfﬁangaaﬁa‘fﬁq%é€1_ (B) 3aﬁm€5§%ﬁa€rm§ﬁa‘rsﬂq—a’éﬁ
(©) saﬁmm‘-aﬁa?rmgama%ﬁqzéﬁ (D) Saém‘az%aﬁaﬁahgaasﬁaﬁﬁéé
b= i
(E) AR o i
42 Who among the Ef‘dllowing was the first woman Governor of the State.ofr%ajasthan?
i (B) Margret~Afv‘a
(A) Prabha Rhb e
©) Kamla ngi!wal (D) Pratibha{?z%til
. d £ -
(E) Questlongot attempte ; _ ()
ﬁﬁmﬁaw“" mﬁmqﬁmmﬂmﬁqﬁ? e oy
= (B) ¥RE
(a) T S
1l D) frT ATl
© T .‘ ol
(E) aﬂ?lﬁ'ff A
. : sot-T1: ‘ e
43 Match List-I wxf{l_dyls(w“ds) List-I (Synonyms)
Llft';l : L. esteem (Y}
.  gepsiow® . ridiculodS}
b. honiobr - . achieve {4
o absufd ) Iv.  charitabfe!
cbbmplis tions given below:
d. a F’Zi'g propriaje answer from the OP jons given below: ?4[
Choose the M5 P g B) a-Ib-TLc-1V,d-1I
CcC- ?
(A) a- v, b 'i:l},_ IV }D) a - 111, bi‘“[v, c-1,d-1I
©) a-1,b-1g5" ’dtcd \O
& Questiont attermp ™
@'. e anto of the word “Ancient” from below
44  Choose the mos[ﬁ,iprﬂl’” 4B), Modem N
~ (D) Rough
DestroY oug
(fé) il ¢! L6y
EE; Question gé‘t ﬂ“empwd 9 .
A15] ¥ [P.T.O.

oo o



tions below:
45 For the sentence given, choose the most appropriate answer in rcportcd speech from the - op!

Ravi said, “My mother is going to her home town.”
' /(/Kf Ravi sa1d that his molhcr was going to her home town,
"-L-“—'—-u
(B)  Ravi said 1111( his mother hnd gone to her home town.
L =
(C)  Ravi said that his mother will g £0 to her home town,
. v
(D)  Ravi said that his mother has gone to her home town.
(E)  Question not attempted

46 The Planning Commission of India was formed on
(A) I+ January 2015
(C©) 26" January 1950
(E)  Question not attempted
WIRE & ST SATENT &1 13 1 g1 o
(A) 159 2015
©) 265l 1950
(E) uitawy

(B)  2n October 1950
(D) © 154 March 1950

By~ 23T 1950
(D) 159T= 1950

47 Vergheese Kurien is known as the father of which revolution i in India ?

(A)  Green Revolution
(C)  White Revolution
(E) Question not attempted

TS FiET = R i ﬁsqmﬁré:m%mﬁamw%‘?

(B) Red Revolution
(D) Blue Revolution

(A) TRy (B) wfed () wify
O T (D) fich swify
(E) Imiauw

48 Which of the following is NOT a large scale Indust
(A)  Iron and Steel Industry
(C)  Jute Industry
(E)  Question not attempted

frefafed 5 & #m-ar v & geq

(B)  Cotton Textile Industry
(D)  Khadi and Village Industry

%ﬁwsﬁn#ﬁﬁ?(ﬁwﬁ%ml?fmﬁm;ﬁ)
(A) e 3R seard 32 (B) el T Jeiy

(C) 928 3=m By @l 3R e
(E) sigafaug

49 Chandoli was declared as National Park in 2004. It is loc
(A) Maharashtra
(C)  West Bengal
(E)  Question not attempted
2004ﬁa~—qﬁ?ﬁﬁﬂ'«fmmﬁﬁwﬁmwmmsm-aﬁmﬁmﬁ%?

Ky wEg (B)  gfenon
(C) ufemEme M) Nerery

() 3 o4

10
Al5] irf [ P.T.O.

ated in which Indian State?
B) | laryana
(D) Meghalaya

N T e ——




50 Which state assembly 1 bi i
ly passed a bill to provide reservation in state government jobs for SC, ST, OBC and EWS from

60% to 77%?

Eg; ’ vKV:;tlfenggT‘h (B) Andhra Préﬁfe’sh

1(;11 U;?lg tion ﬂi}ttempted (D)  Jharkhand ::2

W%}wﬁaaa;”m&alg" ':gmﬁWﬁ@m,Wa, . ot 4. aﬂrﬁ;ﬁmmwaﬁso%%wﬂ%
4

(E) mRa rt

51 Which of the folld_'wing articles empowers the parliament to legislate on a
itfhe resolution is passed by the Rajya Sabha with a 2/3

national interest,

r;g_nmatter enumerated in the state list in the

‘majority of members present in the house

and voting"? (Chodsg;the most appropriate option from below) {7
(A) Art!cle 3125h (B) Article 3603}
(C) Article 54 od (D)  Article 2493
(E)  Question not-httempted r«%
T HEAT aﬂ%ﬂéﬂzﬁt@wﬁaﬁmajﬁﬁmﬁﬁﬁeﬁfgﬁmﬁwwmﬁmmwa af
gﬁmmmﬁﬁmm@ s aaeE & 2/3 W%mmﬁg@mm%l (e i & gl 3 e
)
) FTR31% ®) IR0,
(©) IR S D) IR 24%;;{;;
(E) SrgaRa TH oy . ! ﬁm——m‘é 3
52 Among the followﬁé places in Rajasthan, where is the P(icl)lola lake situat??z L 4
) rsd B) Karauli &%
(A) Bhilwara N ;
@) Udsipur ! i (D) Ajmer fii U 9149 hohs S‘\YE
. e d = >
(E) Question not attempte - & arft et &
— QT T o or
ferfren (rETEM (B)
(a) S (D) I g
“ey T LT s
€ IS e
= . 3
i £ Rajasthan 15 PR LSy <,
53 T:e Stag ot:;;i:n (é}eat Indian pustard ) (ﬁ) Elue Jalzr ?;
EC; Indian Roller! p ®) et :-F
. 25 te ¥
Question ﬂOt_?ttemp |ty
(E) pa—t £ackll 27 frers o}
e TS ) Sl |
PURR @) T
C 1 u
(E) ’"“"f' i p O
& N et ks of Aravali Ranges is the highest? (98]
54 which of the follo_\'iwg ped (B) Kamalnath¢}
Jagra oh (D)  Raghunathgarh
( Gurushikhar ! o A ¥
: emptc ﬁ} @187 A
Question not81e™ & el 1§
(E) s farerd B)  FHEY
* e
2R oA 1 .
() [ P.T.O.

s15]1 PH




55

. i hoose the most
‘Kalisindh Thermal Power Project’ is located in which of the following areas of Rajasthan? (C
appropriate option from below)

(A) Barmer (B) Kota
(C) Jhalawar

(D) Bikaner
(E)  Question not attempted
wrehifry ardta st aisrr At 3§ & voem ¥ frg o 5 fo

&7 (P 3 & e 3oges e )
(A) == (B) T
O FEEE (D) TR
(E) gui@wy
56 Where is the archaeological site of “Civilization of Balathal” situated?
(A) Hanumangarh (B) Ajmer
(C) Vallabhnagar, Udaipur (D) Mount Abu, Sirohi
(E)  Question not attempted
“STATIS AT T JUded TS Hat Rerg 29
(A) TG (B) 3R
(L) TR, ISR (D) WSz e, Rl
(E) SIgui@ws
57 In which year Prithivi Raj III defeated Chandel Ruler of Mahoba?
(A) 1191 A.D. (B) 1192 A.D.
© 1181 AD. (D) 1182 AD.
(E)  Question not attempted
5 e 2t st 111 3 e 35 e = ot s o
(A) ‘1191? AR B 1192%
r (©) 181% 11828,
{ (B CHTERE ¢ gt ¢

58 “Saheliyon ki Bari” a pbpular tourist destination in

Udaipur was built by
(A) Maharaja Surajmal (B) Maharaja Udaj Singh
(C)  Maharana Shambhu Singh-I (D)  Maharana Sangram Singh - 11
(E)  Question not attempted : :
STAIUHT T UG wees: worer “qaferit i ae e SR sram o
(A) SE S (B) RN 3e Ry
(©)  wErn ¥y Rig-1 AD) TR o Rig
(E) Aafauy .

59 In which year the Indian Government launched the New Economic Polic : .
option from below) Y of India? (Choose the most appropriate
T T A ﬁ?ﬂaﬁﬁmﬁmmﬁhﬁﬁrwwm(ﬁqﬁam .

(A) 1990 (B) 1993 S I
L) 1992 | (D) 1991
(E)  Question not attempted / 37Taft g

60 Who from the following has the primary responsibility of distribution
(A) Food Safety and Standard Authority of India (B)  Employee’s State Insurance
(C) Burcau of Indian Standards (D)

Food C i ,
(E)  Question not attempted ood Corporation of Indig
s 3 Freferfian 3 & @ & forar 4 e freitard R 4,

() T TR A i B)  fenfeat it v sy
(C) ~HAR AR . B) et e fim

(B)  FIAAIA

12
a15]

of the food grains in Indja?

[ P.T.O.
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61 Which Union Ministry launched the ‘Swachh Sarvekshan 2023’ - Mera Shahar, Meri Pehchan’ survey s =

most appropriate option from below)
(A) Ministry of Jal Shakti

(B) Ministry of Tourism

(C) Ministry of Housing and Urban
(D) Ministry of MSME

Affairs (MoHUA)

(E) Question not attempted .
forg T 3 TS A 2023 - iy T e TR T waor sy e (ﬁﬂﬁﬁwﬁmﬂfﬁﬁw%ﬁ?
(A) T e HEH () e WA
(w©r SraTE T TEd FE A (D) ., Td. . 3. HAed
() TaRa ¥¥
62 In Olympic 2024, India was at spot in the medals tally?
(A) 37 (B) 91¢
© 17 (D) TI¢

(E)  Question not attempted
WZOMﬁWWHTWﬁ T WET? .
91

) 379 (B)
© 174 . @ 7nid
(B) IgIRATH
63 Which state hosted Outlook Planet Sustainability Summit and Awards-20247
(A) Goa 7 (B8) Tamil Nadu
( D) Maharashtra

(&) Rajasthan
i ttempted
(E) Question not @ empte i e 2024 i N

I AP
o T
© TEH (D) FE
® I

s is not true with regard to the Comptroller and Auditor General of India?

t
e President of India.

following statemen

Which of the :
Yy The CAG is appmted by th
a. The C AG can be removed on the recommendation of the President of Inidia.
> The salary and allowances of the CAG are charged on the consolidated fund of India.
The Tenure of CAG is fixed for five years.
) i iven below:
riate answer from the options given
Choose the m(ois(; zf{li}:‘op (B) a,bandd only
(A) b, ¢ a:d oy (D) a bandconly
C a,ca .
© ion not at’(empted g :
ST TETeTETIIaTS ¥ adr T 82

(E) Qucstl %W
ﬁﬁﬁﬁwm ﬂqﬁ%mﬁgﬁﬁmmﬁ

erafafead F
a %ﬂ(;AG)@%qM(CAG)aﬁmmm%l
b, W@ Icqumii'aﬂqaﬁ(ﬁm?ﬁmﬂﬁﬁﬁﬁxﬁﬁﬁaﬁ%
. pen S
d. W?ﬂ( ;
:ﬁammﬁﬁaﬁ?’;ﬂdaﬂfw > (B) ¥aeta, b3 d
A) Wb'caﬁ(d (D) Fada,balc
5 S 13 |
[ P.T.O.
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65

66

67

68

69

70

Al5]

Which of the following provisions of the Indian Constitution deals with the appointment and dismissal of the Council
of Ministers?

(A)  Article 747
(C)  Article 70
(E)  Questionot attempted

l“m.
(B) Article 75 Lt
(D) Article 72 (¥}

h
PrsiftrRere 3 & v @i s A w1 s wiatorg it frgfes ot vewga gy w@ar &2
(&) IR 4 (B) ATRTTS o
(C) =T 103 (D) FTRT72 1)
(E) gaf@gx e

Complete the sentence by choosing the most suitable article from the options given below:

Please get me ! ~ umbrella when I go out shopping as the monsoons are appx%?chmg
(A) No Artidle!

B
(©) the & (R 28

(E)  Questioh-hot attempted )
O ™
Complete the sentence by choosing the most appropriate preposition from thq_ophons given below:
I reached the school the gates closed. g
(A) by - : (B) from =D
(©) later (D)  before
(E) Questio%&ot attempted r~
Diesel engine chfiverts energy from - (Choose the most appropriate o‘pﬁbn from below)
(A) Electric €nergy to sound energy (B)  Nuclear energy'to electric energy
(C) Chemicdl¥¢nergy to mechanical energy (D) Chemical energyito electric energy
(E) Questioimot attempted - QY
SNAEA et Uit a1 (R § & el suges forerea ) o |

(A) B@lﬁzﬁmﬁmmﬁ
(©) %ﬁmmﬁﬁﬁﬁmmﬁ

(E) IIaf@ws

Choose the most“approprmte word from the given alternatives which bears the same relati

(B) mﬁﬁmmﬁ@ﬁgmmf
(D) e 3ot & goifes ot

onship with the third word,
as the first two bear. W
Mountain: Hill{*Tree: ? 48]
(A) Forest 3% (B) Rain (@)
(C) Leaf (% (D)  Shrub N

(E) Question not attempted

:ﬁ%ﬁqnqﬁwﬁﬁ%%ﬁz’rmﬁ%m%Wmm%mﬁmﬂﬁ%ﬁ%mmmaﬁq
add: TETe: : I$32-

v={
ST B - a
5,8 i | Of = EE
SE.’I
(E) R s
d t. 3
Choose the od onc ou ke ;
(A) I(zreeze {‘ “ @) rmase 3
ea __| ‘
& Qfl;sti ?:ppt attempted o
- . i
g B)  ww
W ®
(97 el
® 14

[ P.T.O.
S



71

72

Read the passa

73

74

If H : . .
in a certain .clqc_lle, Ois writtenas L, Aas H,MasI,SasF,NasT,Eas S, Ias A,PasGandCasE, then howW will

;:gMPA:;;S be written in that code?
S FEF OF L, ASIH, MHL, SH F,NH !
) . ] ; T,E&H ' e ™
COMPANIES ! & foar smam? S’IﬁA’PﬁGﬁcaﬁEmm%ﬁﬂ
(A) IGMATFS A5 ELI “
ELIGHTASF O,
(&) LJ(BI.L;ISBSF ' (D)  ELGHITASF b - H
(E)  Question not attempted/ e 94 m- 1
. | - F
mﬁﬁﬁa@mmﬁwmw: _:4 -~ T
(A) | B) - €
ey =udr (D) @1 SEBtY .1
(E) Fuia ¥ X 1
p/
- G
ge and answer questions 73 to 76 : ¥ clL r 6’\ H

“Stress”
makes life interesting, and keeps you on your toes.

All people have some stress in their lives. A little stress
nhealthy. You may find your life becoming stressful whenev Fthere are changes

However, t00 much stress can be u
lationships, or in t yourself.

d by good things in your life,

he demands you put on

such as getting a newJ g to a new place, or

in your environment, in your re
ob, movin

Stress can also be cause
2 You will probably find yourself always feeling

getting married.
nough time to do everyting that you need to do.

How can you tell when your life is getting too “stressful’
rushed, as though you must hurry everywhere you g0- There is never €
You may find yourself walking, talking, and eating more quickly than usual.,

Besides causing emotional problems, stress can 1 also cause real pﬂs_ical Eg)ﬂe;m&
in your life, you may suffer from_stomaph problems, healdaches orvneck jmd .ShOI.llqel;pi.iin.

Prevention is the best way 10 deal with stress. First of all, be organized- there is no
Put your life and your surroundings (your home, apartment or desk at work or school) in order.

y. On the other hand, don’t always feel

c. Stop putting things off. Do what needs to be done toda
right now. Learn to say “no” to activities and commitments that will only add more
n only do one thing ata time.

If you have too much stress

thing so stressful as a

disorganized life.
Don’t procrastinat

that you have to do everyting
stress to your jife. Remember that you aré only human, and that you ca '

Learn to relax- Slow down: Take a brealf ora wa]k .when.you feel yourself getting  stressed. Find a hobby that

] Reading, listening to music or creating sc')methmg with your hands are all great ways;to bring some peace
you enjoy- .c. Learn 1O Jaugh at yourSclf and your life. Try to look on the bright side of life. Even when things seem
toa hc;::kl;f:a stressful, there is usually 3 place for some humor and a smile. :
pretty )
most appropriate option from below) ‘:D 17>) '\\ OCl!L Mbh)

stress? (Choos¢€ the

O do parle AP

What may =" 1o Yoga .
u do Yt¥e" ) .
(A) when you oon vacation with friends. (‘/d'-“‘q\"
When you & he demands you put on yourself.

(1(3?) When you make changes’in 1 u
ED)) when you relax and meditate
(E) Question pot attempte
: e F"_______-stressed out ? (ChOo% the most appropriate option from below)
How 10 tell jf you? 10 volunteer oo many social work,
avclieo
o ‘; : lz:rc re dand! ke l:lf: L:by
o X .nergy 41 josh-
(C) vou fee fluﬂﬂo‘i:'l e 10 do 411 you need to do.
« u run sho ‘
(Y agtjion ’ ! a!tcmpud
(E) Juc g
] [ P'T-O,



75  What is one of the appropriate way to manage stress? (Choose the most appropriate option from below)
(A) Take on many assignments together.
(B)«. Do everything by yourself and avoid delegation of work. f~
(Q)¢y Plan and organise your work. RQ
(D)ry Rushall the activities you do. o ) . )
(EX%y Question not attempted - !’T“:
76 Choqse the most appropriate meaning of the idiom “to be on your wes” from the options below:
AQ, Take arbreak _ (B) be al?:rt and ready for anything
(q - Putting things off (D) Lo.95 on the bright side
(E)  Question not attempted ol
77 Brze Revolunon in India was launched during the period : - -
YAy 1985-1990 (B)  1990-1995
' 1975-1980 (D)  1980-1985
(E) Question not attempted ' <N
Mmmmﬁﬁmﬁnﬁeﬂﬁ A
(A‘SI_ T 1985-1990 (B) ®1990-1995
(© ! w11975-1980 >  w11980-1985
(By | ofgaf@ w e
78

In[vhd]ich of the following, Rajasthan is the largest producer in the country? -
(A)y Wool (B) Te&?
(Q)r-) Wheat (D) Rice
(E)3y Question not attempted ﬂ
Wﬁﬁﬁﬁw%%aﬁ%%amaﬁ%mm%? o

L} i E
oL m (B) mx;
(q)a} (D) ""”?ﬁ
313?![1’3 qq
B4 ' i
79 Whlch of the following dams of Rajasthan is for both irrigation and Hydroelectricity? (Choose the most appropriate
10n from below) e‘f‘
(A “ Meja Dam (B) Jawai Dam
( ] Ram Sagar Dam D) Ra'iﬁ’- Pratap Sagar Dam

( i Question not attempted

iyt ﬁmﬁ&mmm%ﬁwﬁﬁéaﬁtwﬁgﬁﬁ%mw&mmm%ﬂ (= 3 & ol swr

15 T ® o
& TaTEty AP TR
(Egﬂ“ ﬂa—ﬂfmga 3 e

!

" Wk%} amongst the following famous artists, has represented Rajasthﬁn in the Bharat Utsav in ‘Bahrupia Kala'?
8 £

(A ‘¢ Amar Singh Rathore (B)  Jai Singh Rathore
(CJ Jamna Lal Bhatt (D) Jankl Lal Bhand .

d
“egg?;;t%mpte 3 W7 Icdd | i Fen ﬁmmwuﬁﬁfﬁﬁmw
ﬁﬁf;ﬂ’@ﬂ ®)  wrfie s
(AJui srg (P, Siehr e i
© ET'C”‘

@ g@ﬂﬁﬂg 16 [ P.T.O.
Al5] % -




Match List-I with List-I1

List-1 (Chhatn)

Chbhatri of Sawa1 Jal Singh
5.

81

a.
b. Chhatri of Musi Ram
c. Chbhatri of Gopal Sl‘ngh
Sethon ki Chhatn ‘3
i1 é:m%raiﬁ 11 =1 fore aﬁj%ig
geft-1 @) 1)
a. Iﬁﬂé s fag ';'9?113
b, el e A
c. Tﬁ“ﬂﬁﬁﬁﬁ'@aﬁ'
4. detHzal

Choose the most appropriate ansiver from th
3 R e fareedt ﬁﬁwaffﬂa;mwaﬁ
(A) a-IV,b-IILc- 1Ld-1fN

(© aIbIIcIIIdIV*

(E) Question not attempted /' &WE’H

82 Who is famous as ‘Wagad Ki Meera’?
(A) GavriBai £

LE3

(C) RanaBai —
"(E) Question not attempted !;,(a
£ s}

gmTg I HWw %mﬁaﬁ*«mﬁ@%"

) TR ot
() TEma To
(E) SAgaiaTH o

83 Kattha is extracted from the inner, wood of which tree?

(A) Khair tree
©) Kul tree { ,
(E) Question not attempted £ 3

Wﬁlﬁqﬂﬁmmﬁmﬁmm%ﬂ

#
5

- 15" [

4AF IS =4

4
© FAIA -
(E) Ziat@ 94 =

e,
P,

1L
111
V.

(D)

B)
(D)

B)
(D)

B)
(D)

(B)
(D)

List-1I (Places)
Alwar
Ramgarh
Gatore

Karauli

-1 ()

e options given below:

B a-UL,b-Lc- IVd“II

a- IIb Ic v,d- III

Panna Dhai

Karmawati

Mulberry tree -

Kusum tree

Yl%a;c’rag
RS

ithe largest tributary of Indus river?

84 Which of the following rivers isf
(A) The Chenab (i (B)  The Jhelum
(C) The Satlyj ¢ H (D)  The Beas
(E) Question not attempled
mﬂﬁmaﬁmqﬁ@wwzﬁ@? 82
() = i @y S
() HIG ' (D)  =ma
(E) Fraia 94

INCA R - 17




Ay ey

85

In the fourth phase of integration of Rajasthan, which four princely states merged into, Greater Rajasthan?
(A)  Alwar, Bharatpur, Dholpur, Karauli

(B)  Jaipur, Jodhpur, Bxkaner Jalsalmer
(9 o, Tonk, Bondi, falayas (D)  Pratapgarh, Dungarpur, Kishangarh, Shahpura
(E)  Question not attempted ,

TSTEAT o THHTT o e =07 H Fort = Pt o1 sy Trereer 8 forema gomm?

(A) I, WA, Y, FHed 4By mg(a‘mgtaﬁa?ﬁtéaaﬂt
(C) I, ik, &Y, WiemaTs =

(D) waTg, YR, frerme, wmeqy
(B) rgui@ud
86  When did Netaji Subhash Chandra Bose proclaimed the setting up of the provisional-government of free India :
Singapore?
(A) 237 October 1943 ‘ (B) 24t October 1943 .
(C) 21 October 1943 (D) 220 October 1943 r
(E) Question not attempted
“yerrsft T =i S R e s o e (SfersreT) TThT Y TemeAT Y e R T AT ofi?
(A) 23 IETST 1943 : By 24 AT 1943
(C) 213@1943 . . (D) 22 IR 1943
(E) [aia o
87

Choose the correct statements from the options given below:

a. The British Parliament passed the Indian Independence Act on July 05, 1947
b. This Act was based on the Mountbatten Plan.

C. The Act got royal assent on August 10, 1947.

d.

(B) Hadb,c3Rd
(D) A a,b3d

The Act was implemented on August 15, 1947. — C\
Choose the most appropriate answer from the options given below: Sl : XY\
(A) . ¢ and d only (B) b,canddonly ﬁ/\g' _
©) a bandc only (D) ab and d only NM -
—(E) Question ot a’ttempted
ﬁ%mmﬁwﬁﬁﬁaﬁ EFQI??F:T S
\ a. %ﬁﬂm‘ﬁosaﬁé 1947@%%3@%{@%%%
. f uﬁaqﬁqﬁwmazézqa@rmmmmw
C o SR 10 s, 1947 1 T wheh s Y
T g fufEe (o) 15 SR, 1947 Fam R fer e
:ﬁ—;r ﬁqnqﬁéh?ﬁ 7y mﬁﬁwmw CE
(A) Fada,c S
i r t(c) Fada, b3 c
agﬂfta 94
"oy
88 Who declared “the s;.atus of women should also be raised and women should be trained to take a larger ang =
intelligent interest in public affairs” at the Maharashtra Provincial Confe‘rence in May, 1928?
(A) Subhash Chandra Bose (B)  Bhagat Singh 4
©) Mahatma Gandhi 5 (D) J.L.Nehru
not attempte -
(B) Quesi nfg’ 1928 & ferery evaon <t “Hieradt <y feurfr o Seor @A wnfRa s wfkamatt i s
f;‘gmmmazﬁaﬁmgﬁmmmm | |
: e Ll (B) a fiw
(A) TM et (D) 3 va. IEw
&Q‘ HeTcHl

18 (T
Al51] Y



89  The length of a cold storage is double its breadth. Its height is 3m. The area of its four walls (including the doors) is

108 m2. Find its volume.

@mmﬁmwﬁﬁmﬁ%aﬁ%wﬁm 3m %lsaaﬁanaﬁaﬁ(‘&wm‘iaﬁwﬁammam

108 m? Bl SHHT mmﬁf&m
(a) 125m’ " (B) 256 m> ;:
© 216m O (D) 225m? £
(E) Question not atterﬁf:éed / aﬂﬁﬂﬁ aq v
k| .5
90 Frafafea vt aprafe 2 ;(3
a. A= - b =T ‘
c. YIw d.  faawor [
© iY@ 0
ﬁ%mmﬁwﬁﬁawﬁﬁbﬁmmgﬁ; ()
(A) FEad3fRe % B)  FadAedN a &
4 5
(C) FaTad3Mb £ (D) HadcdRd bR
® TR Yy
91 Which of the followmg isnot a medicinal plant? | , et
(A) Corchorus cdpsularis (B)  Ocimum sanctum )
(C) Emblica oﬁ_z‘cihalij g (D) Curcuma longa %’5
(E) Question not attem’fffed ™
P & e i 7
(A) aﬁza’rm%warﬁw «B)  fimaERm £+
X manﬁﬁ?ﬂ%l}? (D) I vl
(E)_ R i 4
92 Which part. from ‘ashvag%ﬁ%lha’ plant is used to make medicines?
(A) [Leaves. o ‘®) " Roots = - - [
(C) Flowers ; P _ (D)  Shoots - O
(E)° Question not attempted ¥}
‘mmﬁa%m%@wmﬁémmﬁ%gwmm%v R «)
(a) afeEi® By wEiwm .
© e @ T ;";.;ii
® oge@Id el
93 Natural rubber is a polyngt;f of: "
(A) Ethene O (B)  Butadiene s
(C)  Ethylene ‘,; (D)  Isoprene (¥
(E) Question not attempted U‘s
grapfireh T forarerT U Ui 87 : ) :
(a) f g m 1)
© s v
@® T %
A15] X | [P.T.0,




94 Choose the odd one out.

(A) Aggregate (B) Accumulate
(C) Congregate (D) Disperse
(E)  Question not attempted
o ot =5
(A) Hehferd (B) wfaser
(C) THAF (D) foa-fra e
(E) SrfuRawx
95 There are five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin is shorter than Kamal, but taller than Ram
Mohan is the tallest. Arun is a little shorter than Kamal and a little taller than Sachin.
‘Who is the second tallest? ,
(A) Kamal (B) Arun
(© Ram (D) Sachin
(E)  Question not attempted
uis 3R B- Wi, e, e, o it aRm e e A BT qtrm&agr%lrﬁﬁwaﬁmaar%l ST
e HHA W AT FA B A ARE A Merwer )
2 3 g R T <@ ™
45 T | ®) I N )
(C) W D) @hm :ﬁ?@' -
(E) Igaia s o] T CC
- S
96 Some symbols are represented by letters as shown below:
TS Teltehl Sl STarT T gwiiar o & San fR S Rarr e
+l=-Ix|=]=]|>]<
B|G|E|C|[D|A|F NN >
Which of the following expression is most appropriate? \S 7 5 NAQ’ \ X C:(\"}
o § @ 9 W waifde sugw Aswm 87 Yot 3 \S 295 Xy
T 15C5F8C4B6C3 1S+ < 23 (B) 15A SE 8C 4B 6E 3 5 2%
(C) 15C15B8F 4B 6C 2 (D) 15B 5G 8B 4G 6F 3 T 1
uestion not attempted / 3¥TWNA T . -
E) Q,,,‘gér%f‘%’vtﬁ‘g— B \;_\(5—%;%“H_ GGL
97 The perimeter of a r& %‘lgle is 90 m. If its length’is twwe its breadth, then its area is: 28-S ¢
mﬁmm%m%mﬁmﬁmmﬁm@r,a}mam%_ go-\ 2 P
(A) 460 m’ 4By 420 m? \\\q’ A
(C) 450m’ (D) 380 m’ Y+ f0 RN
(E)  Question not attempted / STTARd 71
98 The average monthly income of ‘A’ and ‘B’ is < 6,000, that of ‘B’ and ‘C’ is ¥ 5,500 and that of ‘A’ and ‘C’ s ¥
5250. What is ‘A’’s monthly income?
A 3 B # sfraq 7 3@ X 6,000 2, B W C i shhew mftrw 3ma T 5,500 ik A 3N C Y e mif o
Z 52508, e A o TR 31T R g :
) 5750 ; (B) 6,200
©) 6250 ) 3k (D) 6,450
(E) Question ot aHEEES 20
a15] 3 |

[ P.T.O:




Which of the following is incorrectly matched?

99
(A) Plaster of Paris - CaSOy, % H,0 (B) Baking soda - NaHCO,
(C) Washing soda- Na,CO, (D)  Bleaching powder - CaO
(E)  Question not attempted ‘
frferRaa o & e et w7 82
(A) TR S A CaSO, 5 H,O (B) AT e NaHCO,
(C) TR EIET - Na,CO, D sefifei 9rSet-Ca0
(E) aid 9
100 Given below are t\.R;O. statements:
Statement (I) 1 ‘KARYA’ is a program of department of science and technology, government of Rajasthan.
Statement (II) : ‘KARYA’ aims to provide short term research opportunities to students of basic sciences at graduate
level only.
In light of the above statements, choose the most appropriate answer from the options given below:
(A) Statement (I) is correct but Statement (I1) is incorrect.
(B) Statement (I) is incorrect but Statement (II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (1) are incorrect.
(E)  Question not attempted
fR A=A R
YT - 1 : FE(KARYA) forg et ST RTEhRT FRrsTmT, T SRR T T ST 21
wuT - 11 : S (KARYA)wmmm%ﬁﬁgﬁmﬁﬁaﬁ%aﬁmmm@aﬁmm%l
I oAl m@mﬁﬁmﬁ%{ﬁaﬁﬁaﬁq‘iﬁﬁwﬁaﬁmwgﬁ :
(&) o (1) St 2 Feg e (1) 7o 2 (B) WM (I) TTea & formg e (11) W&
ey () 3T (1) 3w (D)  F () R FA (1) T A &
(E) Agaia s
101  Given below are two statements:
Statement (I) : Gram is grown as “Rabi” crop in Rajasthan.
Statement (II) : Oilseeds are grown both in “Rabi” and “Kharif” seasons in Rajasthan.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is correct but Statement (II) is incorrect.
(B) Statement (1) is incorrect but Statement (1II) is correct.
(C) Both Statement (I) and Statement (II) are correct.
(D) Both Statement (I) and Statement (II) are incorrect.
(E) Question not attempted
45 21 99 fru T E: '
o7 (1) :amrrawﬁﬁ"tiﬁ”mﬁwam'm%l
e (11 ; Freret TroredT § e e FT s & s s #
mwﬁ%mﬁ,ﬁ%ﬁqmﬁﬂﬁﬁ@mmm;ﬁ,
(A) a'"“"‘”“"':’C'%"é‘%"—”'z'r"f':f(”)TW%' (B) T (1) 7ot R Afr e (1) | R
Ao s (i st (D 3 7 (D) = (1) it s (1) Qe e §) |
(E) FIA
21
Als) S [ P.T.O,



- a_ peened

; ?
102 Which of the following taxes is not levied and collected by the State Government of Rajasthan?
(A)  Road/Vehicle Tax (B) Income Tax’lt
(C)  Taxes on Agricultural Income (D) Taxeson l:im} and structure
; {3
(E)  Question not attempted . . e
ﬁnﬁ«ﬁaﬁﬁﬁaﬁ‘@mwmmmmamﬁﬁﬁma@@
. ¥ %
(A) mwm B) IEFW e
©) Ff s S SRR
(B)  TFaRed 5oy P
v
103 Which of the follbling is not a salient feature of the Indian Constitution? i
! A) Provision§'dllawn from various sources (B) Provision qt; Pual citizenship
(C)  Lengtheist written Constitution - (D) Universal fi\fl%llt Franchise
(E)  Question fiot-attempted N
mﬁﬁﬁmwmﬁwg@ﬁﬂwqﬁ@ - £
(A) ﬁﬁ:sﬁﬁi?ﬁmn&m&m AB) Tl Akt g
© mwfﬁ%aa%um (D)  wTEnf 935 TaTier
(B) st ws : T
pe
104

1L
Which of the follo_y;f]'ng statements is not correct about Sa

hariya tribe of jo asthan?
(A)  The chief of the tribe is called Tapara. ¢

L
(B)  They worship several Gods and Goddesses, but their main god is “Behru Bharani”,
(C) The habitel;iﬁjéf Sahariya is South-Eastern Rajasthan, that too limitéd to. Shahabad and Kishanganj tehsils of
Baran district. £
(D) They havet;gg}otra” like Chauhan, Dodia etc: ?:E
. (E)  Question lzqglanempted ki3
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105  Arrange the follo‘y?gmg States / UT of India in descendmg order according tﬁ.t}heir Population dens1ty (Census 201 1))
a Kerala b wsst Bengal
c Deihi d filﬁar -
W % frefafed Tsai / S w2m 9y 201 1 aﬁrm%mwmmﬁ%mwm)mﬁ
e fifm Ey :
a. %IT.,. b tﬁ\?ﬁT Euirc
s Ty —d, farerc
Choose the most ep{zropriate answer from the optiong given below: “%‘3‘
Hfrer o e fored F @ wraiferes swges s, b
o
(A) c,a,db {4 ‘ ®B) adbec i
i
(©) adcb !‘f! By ¢, d,b,a
(E) Question ﬂéﬂattempted / :ﬂﬂ'ﬂltﬂ a4
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Al15] sk | : ~ [PTO.

e O T B D 5 I Tt



106 Given below are two statements:
Statement (I) : Alluvial soils contain an adequate amount of Potassium, Phosphoric Acid and lime, which are ideal
for growth of sugarcane, paddy, wheat and other cereal and pulse crops.
Statement (II) : This soil contains enough quantity of Nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is correct but Statement (II) is incorrect.
(B)* Statement (I) is incorrect but Statement (II) is correct.
(C)  Both Statement (1) and Statement (II) are correct.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
#r= v e g T €
U (1) = Sieite Tt o waty wm i diersr, wemifes uire o @ arr ST, sﬁw Y, ﬁzaﬁmmaﬁrw
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(B) JqERaSA
107 Who was known as * Frontier Gandhi’?

(A) Khan Abdul Gaffar Khan (B) Mohd. Rasooq
(C) Mahatma Gandhi (D) Sardar Patel
(E)  Question not attempted .
“gfimiq eft & A foRd ST ST o4

Ay @M egd THERR @ ' (B) WEHE WF
(C) HeTerm mreft (D) TER 9
E) TR IH |

108 The Khilafat movement was led by - :
(A) Bal Gangadhar Tilak and Vipin Chandra Pal (B)  Mabharaja Hari Singh and Shaukat Alj

(C) Mahatma Gandhi and Khan Abdul Gaffar_ Khan (D) Mohammad Ali and Shaukat Alj
(E) Question not attempted

Wmmﬁﬁmmﬁmww

42 qvmmzﬁaﬂxmmwaﬂ (D) WAIEwE 7l o T areht
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109 The famous speech addressed by the first Prime Minister of India Jawaharlal Nehru at the hour of midj
August 1947, is known as: (Choose the most appropriate option from below) :
(A)  Tryst with Destiny (B)  Hope for the better future
(C) Wings of Challenges (D) Independent India

(E)  Question not attempted 4
wawmmnﬂmaﬁﬁmﬁmﬂw“%l4~15mﬁmﬁﬁmmmﬁmwﬁm

nght on 14-15
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(A) fo fag et (B) ‘E?quﬁ'(aaaw
(c) fama @i S By et sy
(E) raitay4
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| id travelled 20 km, then
Ranjan travelled 15 km northward, then turned right and travelled 10 km, then turned left an

turned left and travelled 10 km. How far was Ranjan from the starting point?..
(A) 35km I

h (B) 45km g Q

(C) 30km Z\i‘;‘ (D) 25km gy'

E Question not attempted o
ialraﬁtiﬁaﬁtlsﬁ?mw , I S AR T T 10 Favet ey, w%mqmjaﬂtgsﬁ T, SIS, S
wggm{lo%uﬁaaﬁ'wnmmmﬁg%ﬁm&agww | |6
L7 3steft T ®) 4sfeft
© 3ofEh § | @) 2s5fmlt | =
(E) mgﬁﬁasrar : I

/{ll A group of girls stﬁas In a single line. One girl is nineteenth in order from h%qtp the ends. How many girls are there

in the class? ¥ .
A T G e gt 812 o e o 19 7 8 & e ey s

(A) 35 «B) 37 -

© 40 :\«.3 (D) 38 N i V{\ G

(E)  Question nof"éictempted / AT wo : f’i e" \{_

H) ETERRLY
112 Where is the princi“p‘"éii seat of Rajasthan High Court located? = PSS\\'

(A) Kota (B)  Jodhpur

(©) Bammer (D)  Ajmer [

(E)  Question not t attempted (e

mmwﬁu@‘eﬁz(&mm)mm% £y
(A FRT 5 &) g h

(©) =T N , (D) IR 4

(E) ogaf@ws e

113 Who was the State ;E,lectlon Commissioner of Rajasthan during 20239 1

(A) Madukar Gupta (B)  Amar Singh Rathor

(C) NR. Bhasm (D)  Inderjit Khani)a'

(E)  Question noi attempted L
a&2023qnawm%wwmaﬁ:rﬁv 4

£ z") ™
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frefafiea & @ e weai § wfo Saeet =1 wam e

a. 9@31 h b. Sﬂﬁ"T
c. WER B -4 d. _ wfem ..
e. T . e i»g
A3 fow e foebet 3 8 Wﬁmmwgﬁ M
(A) FEEa,b3We- B) FEabcatd. O
(C) Fadc,d3iWe 0 (D)— ¥ a, d 3T e ™
(E) oTaia ¥ - ) i
“ ) Efﬂ
Bifocal lens is used to correct the defect of: (Choose the most appropriate option from bglow)
(A) Cataract (B) Hypermetropia i
(C) Myopia ™ (D) Presbyopia iﬂ}

(E)  Question not attempted ]

mﬁmﬁqwmﬁﬂﬁmﬁﬁaﬁﬁﬁmﬁwﬁamﬁ%m ﬁmm%v(ﬁcra«gmmﬁm )
(A) @R f*<! (B) ETEIWHINET & d
©) FPreregfEdw L (D)  S-gugfia A (Fer )}

(E) fgaia w= \l

i

The adult human dental formula is: i
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(E)  Question not attemptedé aqﬁltﬁ uq :—:g
4
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Given below are two statements:
Statement (I): Blood transfusion is a me

ne person to another

thod in which blood or blood products are traargfened from the circulatory

system of 0 . . I

Statement (1I): The first blood transquIOH was carried out by Karl Landsteiner. M

In light of the above statements choose the most appropriate answer from the options’given below:
but g tatement (II) is false. o

(A) Statement (1) is tru€
‘i’_’!"

(B) Statement (1) is false b“t“ Statement (II) is true.
t (1I) are true. L
(c) Both gtatement (1) and %tatemcn
(D) Both Statement (1) and Statement (II) are falses i
(E)  Questionnot attcmpied poo
Hﬁﬂ&"ﬂm"ﬁ% ‘ L0
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120

‘Rane Jagpat Ra Marasya’ was written to mourn the death of which ruler?
(A) Maharaja Jeevan Singh

(C) Maharaja Janak Singh
(E)  Question not attempted

(B)  Maharaja Jaideep Singh
(D)  Maharaja Jagat Singh

T SR T A e e 6 e 6w 5 R Rt mit s
(A) WeRrST e Rig

(C) VWS S+ fig

(B)  wenSn 974 fig

, (D) eI S fie
(E) geia ™ '
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Which statements regarding Kuchamani Khayal arc correct?
a,

b.
c.
d.

Kuchamani Khayal was started by the famous folk dramatist Lachhi Ram.

Chand Nilgiri, Rao Ridamal and Meera Mangal are the main khayals created by Lachhi Ram.
Kuchamani Khayal is not performed in an open theatre.

In this Khayal, players of Dhol, Sarangi, Clarinet and Dholak are the main accompanists.

Choose the most appropriate answer from the options given below:
>

(A) ' a,b, and c only
« . (©) b,canddonly
(ES Que§t_ion not attempted

(B)  a,banddonly
(D) a,canddonly

FEM T & TR i A SR s e

a.
b.
c.
d.

TR AT g T AT St T g I feha T o
e e frr, e feame i s s, s ww g e v e )

FAT TAT Teh Heh e (foreex) # fronfa 7@ frar smar 2
T A i, Wi, W1 39 Sreteh aitesh e wea 2 &

ﬁﬁqmﬁaﬁtﬁﬁﬁmwmgﬁ:
() Faea, baiRc

(B) whadla,baigr:
(C) éﬁabzcaﬁtd (D) A a,c3iNd g
(E) 3raRa 5™
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Which fair was started by Kachhwaha's to cherish their victory over Chandra Meena?

(A) Khalkani Mata Donkey fair (B)  Diggi Kalyan ji fair
(C) Bhartrharni fair

(E)  Question not attempted

(D)  Pushkar fair

| =5 wftom ot e 1 IeEa A & fou el q @A de gy fora
(A) TEFv AT S He

Wy feuft o sf deyy
(C) wrdeft fel (D) @R He
(E) wafagd

123 The Western Ghats are known as *Sahyadri’ in which state?
(A)  Tamil Nadu
(C) Karnataka
(E)  Question not attempted ) i
aferdy el 1 e Trsa A HETA % A @ S St 2
-t (B) @
(C) TARF

(B) Kerala
(D)  Maharashtra

(D) W

(B) Fgafa s
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ich of the followi i
Which o owing statements is not correct about the Gondwana Coal?
(A) Itis mainly peat and lignite type of coal. (14
(B) Raniganj, Jharia, Tata Pgm and Himgiri are some of the im ey

ortant
©) Tlfe Gondv?la.na coal belong to the carboniferous period. ’ coal mines of (Zi,? ildwana formation.
(D) Itis found in Damodar, Mahanadi, Godavari and Narmada valley. &
(E) Question not attempted "}y i
reaET e ST E T # A A e e T L)
(A) FETET e 3 fermTsg SR 1 e R 7
(B) umgﬁmmwamﬁnﬁﬁ rﬁgamwmsﬁgmmm@ﬁﬁ :
(©) rﬁ@WWwﬁﬁWmﬁmﬁa% | e
(D) T TR, W, Y, TiaTart 3T TafaT St # arar S ) D
() uRd 9 P 44
8 3%
The first Vice Chairman of NI Ti i&YOG was . %
£y ]
() Nandan Nilekani U*: (B)  Arvind Panagariya i
(C) Narendra Modi {\ : (D)  Arun Jaitley L)
(E)  Question not attempted 5 i
Ry TR 3 T YRS i B
(a) i Freet gl afiq AT o
©) A ¥ (D) v Sieet e
gﬂ‘f'«

(E) gaia IH
é&éget?

In which of the following budget year the Railway Budget was merged with the Union
%
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mq%mmaﬁaiﬁ%m o T 3 sreTe S {2 &
(A) 2017-18 .pé (B) 2018-19 1"-:{
& 2015-16 ~j (D) 2016-17 he
(E)  Question not attempted [a:laﬁﬁﬁ " i
127  The rate at which Reserve Bank of India lends money to commercial banks is called &=,
(A) SLR g (B)  Repo Rate
(C) CRR - (D) Reverse Repo Rate _‘:;\i
(E uestion not attem tedf™ M
ﬁz?ﬂgq;ﬁwﬁaé%aﬁfﬁrmaﬁaﬁmmémaﬁ Fea Bl 3‘
a) wwem ACE (B) e =
© @ emem &% @) e .
(E) rgaid 94 £ f ;1’
128 As per the Budget 2024-25, lh(; ﬁ’scal deficit is estimated to'remain _ of GDPin2024-25.
T2 2024- 2stﬁmwn‘m"m orer a4 2024-25 A EFT R G HF {76 1 IgHH )
(A) 58% “ €9) 499 W0 y
(C) 5.1% (D)  5.5% o
(E)  Question not attcmpth { mﬁfdg’} . S
129 Which of the following are tWQ cash crops of Rajasthan? |
(A)  Bajra and Coriander ] (B)  Barley and oil seeds "
(C)  Cotton and Tobacco ) (D) Wheat and Rice Al i’
(E) ¢ empted i1 ) 4
o M:;:';—::;t;wfmﬁ?”ammﬁ%’
arsmy 2 afaEt | &7 IR fyeme
) s e ® st
(E) wafa a4 \
AlS) sk 27
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E (B) SEAX
(€ g B
(B) “orgaRaws ;
131 Which city is known as ‘Food Basket of Rajasthan’?
(A) Bikaner (B) Ajmer
(C) Alwar (D)  Sri Ganganagar
(E) Question not attempted
Forar Tt ot Tror e S % v i S 29
A) e (B) 3R
C©) et D AR
(B) S
132 Pradhan Mantri Krishi Sinchaiyee Yojana (PMKSY) was implemented in Rajasthan from the year
ST & et w4t Y R wivere (dromdiogan) ERRICIU TR 25 (R
(ﬁv)’ 2019-20 : (B) 2020-21
_,(Q 2015-16 (D) 2017-18
(E)  Question not attempted / SATARET Wy ;
133  Which of the following statements is not correct about the Darjeeling and Sikkim Himalayag?
(A) They are flanked by Nepal Himalayas in the West and Bhutan Himalayas in the East.
(B)  The higher reaches of this region are inhabited by Monpa. .
(C) Itisaregion of high mountains peaks. : .
(D)  This region has well distributed rainfal] throughout the years,
(E)  Question not attempted 43 NX
mﬁnwﬁmm%ﬁﬁﬁnﬁ%#mwwqﬁﬁ ‘ w
(A) ﬁqfauﬁﬁma%wmaﬂtqﬁﬁwi%ﬂmﬁfﬁ%%
(B) 39 &F & 3= T W AT 7 g 3
4€) I Ie9 yaa fredi w1 e R :
(D) 3@ aEH ¥ v aul 3=t yem § fafa 2|
(E) i@
134 Duduma waterfall is located in which of the following state?
(A)  Jharkahand (B) Odisha
(C) West Bengal (D)  Andhra Pradesh
(E) Question not attempted
e & e i 1 g e e &
(A) TGS (B)  aifewm
o uimETd (D) iy W
(B) STgeRa oA
A15] &

Indira Gandhi Canal ends in which of the following districts of Rajasthan?
(A) Bharatpur (B) Udaipur
(C©)  Jodhpur (D) Jaisalmer
(E)  Question not attempted

e et TR Freforfiaa & & o & frg R o aome St 29

(A) WAL
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135 Name the left bank tributary of the Brahmaputra River?
(A) Burhi Dihing
(C) Subansiri
(E)  Question not attempted
SYA T & A T2 Y AT T A STy -

(B) Sankosh
(D) Kameng

A TARFE (B) HaHhig
© g=d (D> T
() Igai@aws

136 In 1859,

‘Relief of Lucknow’ painting was painted by
(A) Oubam

(B) Havelock
(C) Thomas Jones Barker

(D) Campbell.
(E)  Question not attempted

Toras T 1859 ®, “frefies o

ST @S 9 (painting) swrft A sfto
(A) 3w (B) et
(Cy o Sy ST (D) FFgae
(E) gaiaws
137 The University Education Commission was set-up in the year under the Chairmanship of Dr. S.
<1, TH. e At stemera  Ryafrerer fre s T B and i 8
A) 1951 ' £y or 4By 1953
©) 1947 (D) 1948
“(E)  Question not attempted / JTIARA ¥
138 Given bx;iow are two state;rlents; )
Statement (I) : Most of the rulers of the princely states after Independence of India were averse to join the Constituent
Assembly. .
Statement (IT) : This response of rulers of the princely states meant that after independence there was a very req]
possibility that India would get further divided into a number of smal| countries,
In light of the above statements, choose the most ap.pmpriate answer from the options given below:
(A)  Statement (1) is correct but Statement (II) is -mcorrect.
(B)  Statement (I) is incorrect but Statement (II) is correct.
(C) Both Statement (I) and Statement (II) are f:orrect.
(D)  Both Statement (I) and Statement (II) are incorrect.
(E)  Question not attempted
x(ﬁﬁgimm%mm%#w?m%wﬁﬁ%mm N
T (1T) : T ToraTEl 1 54 A AT 3"‘} ?m‘a“ﬂi” m@““‘*ﬂmﬁﬁﬁmmﬁfﬁé%sﬁﬁﬁzm|
I et 3 e i, faw o forered # ITG I GH: .
(A) @ (1) T & Sfe waT (1) T 2 (?)) (1) Tr:ﬂ_b a‘ti%m—im;ré}mw;l
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(E) Tgafa 94 -
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139 Frfefes # & Rin werdr sy amr e
(A) I ERE R

| (B) ST STEATiT 2 L '
(E) SIguRawy m i’.f%'*;
. o QY
140 :ﬂm'émgzﬁ‘taarmfﬁ%‘r ]
(A) ﬁmﬁaﬂaﬂz‘_‘ ¢B) U T wEw ;ﬂ
(C) dr@r ‘ (D) fEwygamr M
Ty v
(E) STgaiawsy -
141  Which of the followigg!words will come second in the English dictionary? 5“?
i s i 3 QS W Y75 GO T R S {"»:‘
(A) ~ Matemal o (B) Magnify {_;
"(;ef' Magnetic ¢, (D) Magical -
tion not aft pted / STARA W f“ '
B Ques e | ™ C )
i T - 32
142 What will come in plggg of ‘7 : s*'f'»; o - “ {__}q
7" % TR R AT 3t e o N T
60, 45,32, 21,7 - bs o
A) 14 = (B) 11 k-&’;:
© 16 {5 By 12 e
. v i
(E)  Question n‘ot q{t;znpted/ TTARE Wy €6 U5 ‘ aQ (fl\ |
143. What will come in plé’cg of - j" ..
2 o T 9 T T2 m’
ﬂ Lo '
o -39 o & &
— RO
—Om| ? M
- : &)
& ™
©Q A m O
Iy A
© (O— 4 (D) ‘CS‘ i
(E)  Question not attempted / 3TqxfRd war P
= L&y
144  Which of the followiﬁg districts of Rajasthan is famous for the highest produ";:" )
the state ? v} i":fn of wheat i, year 2022.23
. (A) Bundi ﬁ‘* (B) Kota «\g
() Sri_(janganag%ﬁ'd (D)  Jaisalmer -
E estion not attempted Yy
;;wﬁQgﬁqﬁﬁﬁ%érﬁwaé2022‘-23311@%{%%%%%%@
(a) @ 1 | e
@~ HfTEr (D) ST
(E) rgafa s
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145 Which among the following is not an A

(AP " Tron St Indusiy gro based Indust:)ll3 ;n th:: Zt::(t:; c;lt; cll{::’:irs;han?
(C) Dal M.ills . ) (D) Rice Mills NDaJ
(E) Questlf)n not attempted wb, e .
mmmwwﬁﬁm%%mﬁ&ﬁmm@§WWWMEﬁmﬁ% ‘Z)U L\8
/Eg/ j: ;ﬁg FEAT 32 (B)  hurd 3ei i ﬂ \40‘ Y\D
(E)  oTgefed wer Ay @) = ’\/'M‘\"

146 Which of the following is not a web browser? MEL i 14! i
(A) Opera »

(B)  Gmail
(C)  Mozilla Firefox (D) Safari .
(E)  Question not attempted

Frafafaa # @ e 3 s i &

(A) S ABY SEw

(©)  wifsten wratETEg ‘ (D) wFEd

(E) fgafia wsr '

147 For the sentence given, choose the most approprmte answer m the passwe voice from thé" optlons below:
My sister baked a cake.

(A) A cake was baked by my sister. . ¢ :

(B) A cake was being baked by my sister. ’<

(C) A cake had been baked by my sister.

( A cake is being baked by my sister.

(E)  Question not attempted .

148 Complete the given sentence choosing the most appropriate word from the optlons below:
d can speak man 1
My brother is ultghglgglan Foreign Serv1ces and can sp¢ =) Ii,'nap,gutages, Heisa
inguis
(A)  Philatelist e 5\.11 :
F ‘ o
(C)  Pessimist' « ° ; g
(E)  Question not attempted

—_— .

149 compl te the piven sentence choosing the most app mlmme word from the options below:
iv
" plete . t;gth e annoyed with him for his lack of sympathy for the victim,
e ¢ Iemarkeg that Sh¢ . (B)  feel -
Ay feelmK Sl . (D) felt
(©  will feel l ‘ '
(E)  Question not attempted
150 In th iven, replace the underlined words, choosing the most Suitable idiom from the Options l
€ sentence given, > Delow:
n a reason: )
He was arrested W (B)  outand gyt

() ¢ 2 odds and cndk (I— for no rhyme or reason
(C)  over and above
(E)  Question not attempted
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